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SOLUTIONS
0.1 k=-4
0.6 k=0
) P(X =k)=40.15 k=4
0.15 k=7
0 otherwise

i)  Given {u,u,,...,u,,} ={0.511, 0.008, 0.717, 0.333, 0.209,
0.200, 0.173, 0.990, 0.421, 0.571}

We obtain {x,,X,,...,X,,}={0, -4, 4,0, 0, 0, 0, 7, O, O}.
i) E(X)= ka(x =k)=0.1(-4)+0.6(0)+0.15(4) + 0.15(7) =1.25
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If u; €[0,0.3) thenx, =0.

If u €[0.3,1/3] then x, — || =3.
U,
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If u, €(1/3,0.5] then x, =|—|=2.
U,
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If u, €(0.5,0.8) then x, =|—|=1.
U,
If u, €[0.8,1] thenx, =7.5.
therefore
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P(X=k)=16
L k=3
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1 k=75
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0 otherwise

Xy X500 %53 ={1 0, 2, 7.5, 1}.

X:éa+o+2+15+n=23
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E(X)=) kxP(X=k)=-—0 +—1
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Hence X > E(X).
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